H#RUNZ / Components

No. 2 %5 / Part name #E / Pcs #ME / Material & - RELIE / Color-Finish
1 =~V HRIR 2 TILSHRH A A6063S-T5 YWN=TIWRAb, T F99TLRAR
Heat—sink side plate Extruded aluminium A6063S-T5 Silver anodized , Black anodized
2 =P VAE (% 1 TILSHRH A A6063S-T5 ATV =TLRAR , ATFAVT 99T MAR
Front Panel Extruded aluminium A6063S-T5 Hairline brushed Silver anodized , Hairline brushed Black anodized
3 T I83 )L 1 TILSHRH A A6063S-T5 ATV =TLRAR , ATFAVT 99T MAR
Rear Panel Extruded aluminium A6063S-T5 Hairline brushed Silver anodized , Hairline brushed Black anodized
4 REHR 2 T ILEAR A1050P ATHATIMN=TLRAL , ATFAVT 99T MRAR
Top cover , Bottom cover Aluminium A1050P Hairline brushed Silver anodized , Hairline brushed Black anodized
5 E £ E / Corner support 4 #llgR SPCC / Steel SPCC ={#i¥n=b / Trivalent chromate
6 I L/ / Rubber feet 4 w19 AL / Polyurethane 7'3v9 / Black
7 HAFER (M3 x 6 H3) 16 EoS ok lhavk SR04+
Screw (M3 - 6 Countersunk) Steel Nickel plated , Black trivalent chromate
8 HEUFE R (M3 x 5 FEft4,M) 12 S ZyrlivE Z@B0i-+
Screw (M3 - 5 Slotted raised countersunk) Steel Nickel plated , Black trivalent chromate

* TLARFEBDHATICEEYRFITTEES,

* Adhesive rubber feet in cluded.

BREUINTFEMTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

4/ Title

MBEE—F oKV or—R
HEAT-SINK RACK MOUNTING ENCLOSURE

o]

RE/Scale

4 (BUFZREO) / Color type (End of product number[1) 2 /Approved [ #R/Checked %[ /Created | %1% /Product number
i05 / Code £ / Color HYR88-43-2301
Ss S JLIN— / Silver iR T (320 " s
BB 75v% / Black {ERL B /Date 2017/06/15




YT 3L

Rear panel side

430 E—RS o BlE 24

Heat—sink side plate2 side

E—r oo RIR 1]
Heat-sink side platel side

A-A(1:6)

A#h~ti% / Max dim. 80
E#~Ti% / Max dim. 76

. 0 ) = 0 g
= BN e o' & g o=
= : : S
= £ £ :
. B | . -
] S — - - —_— <3 £
1N = | ~ | N ~ 20.6 =]
-E;}r S ‘ B s s §|
=2 I i = © S
§ R s —= g] R ﬂ & ng

. . iy e iy 0 »

=— A
8-M3 (L v— Hft A
482.6 8-M3 (Hole for mounting plate) 115 57 115

=D AT V|
Front panel side

88

5.6

B-B(1:6)

A#~ti% / Max dim. 386

R4/ Title
HWEE— o IHIVIT—R
HEAT-SINK RACK MOUNTING ENCLOSURE

BREUINTFEMTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

o]

#5/Approved #&[X/Checked X /Created FIF /Product number RE/Scale
HYR88-43-2300] 16
iR ES e 2 /5
{ERL B /Date 2017/06/15




3.7 156 1.7
%’ 6
=
=

80

<L

(AL

UV U™

W79 =hILT—24 / Technical Datall
EIEHE / Thermal resistance : 1.49 °C / W

*EMEREIX D/ EICEE. BE L R60°CORDIE
*Thermal resistance calculation is based on the fins being perpendicular to the ground with temperature at 60°C

20 40 20

189.8

E—hr U HMI#R1 / Heat-sink side platel

E—hr U HfIHR2 / Heat-sink side plate2

BREUINTFEMTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

4/ Title
E—r VIR

Heat-sink side plate

o]

£2/Approved

iR

X/ Checked

T

#[/Created

A

24 /Product number

H88 — D230

RE/Scale
1:4

YERL B /Date 2017/06/15

3 /5




782 ks3%)L / Front panel

2-M3
2-M3AH IR
2-M3 Countersunk
3 482.6
1 .
_|| @
4-R2 BTk / Max dim. 386
2-M3
©
(=]
734 257.4
2-M3FAH I}
2-M3 Countersunk
1J7 733 )L / Rear panel
2-M3
2-M3RAHY IR
2-M3 Countersunk
3 430
1 .
-I| ©
4-R2 ATk / Max dim. 386
2-M3
©
© 73.4 257.4

2-M3EHYI}
2-M3 Countersunk

N~Ti% / Max dim. 76

7
*

£l

ANTFIAV A

I
L

6.5

466.6

e
L

76.2

ey
U

Hairline brushed direction

$~ti% / Max dim. 76

75
*

Sl

ANTFIAVHRA

I
L .

419.7

419.7

76

Hairline brushed direction

76

BREUINTFEMTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

R4/ Title
AR YT IR

Front panel , Rear panel

o]

7R/ Approved 18X/ Checked X /Created

iR ES A

FIF /Product number

W430 - H88

RE/Scale
1:5

YERL B /Date 2017/06/15




XHx / Top

H~Ti% / Max dim. 201

cover

ATk / Max dim. 386

(000000000000,0000000000000

0000000000000°0000000000000

M@ / Front side

JEH#R / Bottom cover

0000000000000,,0000000000000

0000000000000°0000000000000

fREEL— A

Surface protective film side

AFSAUFA

Hairline brushed direction

RE—HMa
Surface protective film side

AFSAUF

Hairline brushed direction

429
2 14 396 14
fo) DD
) |
== [
= |
=) |
= |
= |
= [
© = [
d = [==]
(2] = (=]
uv? (:DI [o] ™
© > < -
g 2 = (] o~
= 8
= =
N = P
= =]
= =]
= =]
= =]
= =]
= =]
= (=]
257.4
6-04.5
398 ?
ZH / Back side
(o] S
[e==] S
= S
(=] 1=
= S
(=] S
(=] S
(=] DC)
(=] f]
(=] =]
[e==] =]
=
< j=1
= p=—
= |
(=] =]
(=] =]
(=] =]
= O
= |
(=] =]
(=] |
(=] |
= |
= ]
(el
ZEME / Back side
w4/ Title
TAKACHI| #X&itahFEHITE KIER @ G

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

Top cover , Bottom cover

£8/Approved

iR

X/ Checked

T

X /Created

A

24 /Product number RE/Scale
W430 - D231 1:4
feFB/Date  2017/06/15 5/ 5




